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 12.5  - Angles of Chords, Secants, and Tangents  
 
If t is the tangent to the circle, find the missing value. 
 
1) mAB  

 
 
 

2) mDEF  

 

 
Find the missing degree value. 
3) 

 
 
 
 
 

4) 

 

5) 

 
 
 
 

6) 

 

7) 

 
 
 
 

8) 

 

9) 

 
 
 

10) 

 



 
Find the missing length value. 
 
11) If  80mRT = °  and  40mUS = ° , then 1m∠ =  ____________ 

 If  130mRU = °  and  100mTS = ° , then 1m∠ =  ____________ 

  
 
 
 
 
12) AT  is  a tangent. 
 If  110mCT = °  and  50mBT = ° , then m A∠ =  ____________ 

 If 28m A∠ = °  and  46mBT = ° , then mCT =  ____________ 

  
 
 
 
 
13) PX  and PY  are tangents. 
 If  250mXZY = ° , then m P∠ =  ____________ 

 If  90mXY = ° , then m P∠ =  ____________ 

  
 
 
 
 
 
 
14)  BZ



 is tangent to circle O;  AC  is a diameter; 
 90mBC = ° ;  30mCD = ° , and  20mDE = ° . 

 
 m∠1=_______ m∠6=_______ 

 m∠2=_______ m∠7=_______ 

 m∠3=_______ m∠8=_______ 

 m∠4=_______ m∠9=_______ 

 m∠5=_______ m∠10=_______ 
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